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A = 0 &
(200) K2 =X S QETAFS ME : (234) BES (401) AAHI 20 o+ ma
SRNE] = .
- 4w | SHES |8 2 vl =
= 2,913,414 1,956,250 957,164
NER= 2,613,414 1,279,450 1,333,964
== 1,057,664 775,000 282,664
401
AU 2O 8] 1,057,664 775,000 282,664
1,053,570 771,568 282,002(01 A& |
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(200) M XK E ¥ i (20) RENAHS ME : (234) 258 S 1 (401) AlEHILSO cio
] = : x
WS E weaw | GRS |3 2 & = ] =
- g% oxvg 3479 B (=2
100,000,000& = 100,000
- Y 279 SH A (L=3.5kn) 170,000,000& = 170,000
- & S&7Y ST A (L=3.5kn) 100,000,000& = 100,000
O a2 0l & S AH(L=2.0km) 200,000,000& = 200,000
O dgs+ sl 70,000,000& = 70,000
O o= 2Z2H3XE EXASE 30,000,000& = 30,000
4,094 3,432 662/03 AlZ =8I
O =2 uMAMS () 198,570,000& x 0.72% = 1,430
O @+=79 HHAML 370,000,000& x0.72% = 2,664




B :(200) WEENE & ¢ (280) RENMHS Mg : (235) JIHEA = ¢ (401) AEHIL=OY e ma)
2 = W e | = <
235
Il A& X 1,514,500 487,500 1,027,000
401
INR=1=1E= g N a] 1,514,500 487,500 1,027,000
1,509,326 484,819 1,024,507(01 Al &H|
O Jtgd AX(ga g4 2I4) 20,000,000& x 34 & 60,000
O AStdAlYE FA2E B+ 2,500,000& x 5JH 2~ 12,500
O FYESEH EX(5Ma) 124 ,106,000& 124,106
O Hd&¥8+& =Xl =20 BE= 30, 000,000& 30,000
O &= YU ANLE 2= 20,000,000& 20,000
O H4®m 84 +EUVSSHAL(SE, pH S)
24,000,000& x 104 & 24,000
O &8 M8 @ =52 WAL
10, 000,000& x 5JH 2~ 50,000
O AHIZLETAIE NBAL(BEZAY) 1,188,720




(200) H2HXE & (230) RENMIS gt (235) JIHE S ¢ (401) AEBILSOH (ol ma
gg,d% = = weaw | GRS |3 2 & 5 | =

- ZE YA A2AEEAE HEAS 276,000

= 193,000,000& = 193,000

i 83,000,000& = 83,000

S UE OINT ARRATAE WEBAY 324,720

= 225,720,000 = 225,720

i 99, 000,000& = 99,000

- WA ZYNT ARDATAL HBAL 251,000

= 176,000,000& = 176,000

i 75,000,000& = 75,000

S Ha BARNT AADACAE HEAY 187,000

= 131,000,000& = 131,000




(200) M XK & ¥ (200) RENAHS ME : (235) 1B S 1 (401) AlSHIL SO (sl ;e
o = ] _
ToWE B weaw | GRE |3 2 & = ] 3
[ia 56,000,000& = 56,000
- HUENTR ARDSLTAE WAL 150,000
= 105,000,000& = 105,000
o 45,000,000& = 45,000
5,174 2,681 2,493|03 Al S20iHI
O FEREH £X 124,106,000& x0.72% = 894
O £AZLCAE WAL (ZZAY) 4,280
- Z 1,188,720,000& x 0.36% = 4,280
237
SJ|728l3 41,250 16,950 24,300
405
A&HF SIS 41,250 16,950 24,300
41,250 16,950 24,300{01 Xt&HF SHI
O BANEZE 9018 2 450,000& x5 = 2,250




(200) XtEXX = 5 @ (230) REIAHS Mg : (237) BII2HIE S : (405) RAHFSHIS (o9l - mw
ot = i} _
o |2t NS = ol & & ‘3#1&:1% 5 Z At = y =
O B4% YE2EQ HYHIT 2U(248)
11,000,000& x 14 = 11,000
O B4% HBHASHI| 2 (22, ¥4)
11,000,0002 x 20} = 22,000
O B4+® S0 PHEED| 29 1,200,0002 x 504 = 6,000
280
IS S 2R a8 300,000 676,800 376,800
282
Moo A2 As 300,000 676,800| 376,800
601
He=dzaE 300,000 676,800 A 376,800
300,000 676,800]  A376,800[02 Al - 2 RAAWLI LSS 43
O ATHE(MLTAY NARBI|2) 300,000,0002 = 300,000




